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What is the Volterra Integral Equation of the second kind?

(1.5)
Find the iterated kemels for the tollowing kernel (1.5)
K(x,t) =cos (x - ).0=sx<2n0<t <oy
Find the | aplace transtorm of the tunction F(t) = eut (1.%)
Define symmetric kemel K(x,t). (1.5)
Define Cauchy Integral. (1.5
What is the general form of the Abel Singular Integral Equation? (1.5)
Write two applications of Green's function G (x, t). (1.5)
What is the Wronskian of the functions x, x and x7. (1.5)
What is the solution of the integral equation y(x) = 7 + L; y(u)du. (15)
State Hilbert formula, (1.5)
PART -B
Solve the following integral equation by means of resolvent kernel (7
. N
V(x) =sin x +2[, eNty(t)dt.
Transform the following boundary value problem into an integral equation: (8

d?y .
W.{.X‘y =l with y(0) =0, yi) =1.

Construct Green's function of the boundary value problem V'=0y0)= ®

ya)=0. . , 2
Find the solution of the integral equation y(x) =—£ + A Io xt y(t)dt. s

Convert the differential equation Y '(x) = Sinxy'(x) +e*y(x) = x with initial (1)
conditions y(0) = 1, y (0) =-1 10 a Volterra integral cquation of the second kind:
Conversely, derive the original differential equation with initial conditjons from the
integral equation obtained.
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t .
Solve the Abel’s equation [, (tyg)l/z'dx =t(7+t)+1 using Laplace
Transform.

. ] ¢2m d S (8)
Show that the integral equation y(x) =1 +;Ig sin (x +t) y(t)dt possesses
infinitely many solutions.
Solve the integral equation )

b

f) = —2 4t 0<a<x <b=<m.

(cosx—cost)?
Using Green’s function, reduce the following boundary value problem to a (10)
Fredholm integral equation

V'+y=x, y(0 =y'(1) =0 ¢ =

Find the solution of the following Hilbert Singular integral equation of the second (15)
kind
*20 t

ay(x) = f(x) - Ebﬁ 0 y(t)cot (%x)dt, where & and b are complex constants.
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